Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4212-13.dwg

POWERED BYI!
11

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD l D R "'6 1 1
The Fiberglass Door system described herein complies with the 2018 International
Residential Code ({IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debiris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.
Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering

analysis.

TABLE OF CONTENTS

SHEET#

DESCRIPTION

1 Typical elevations, design pressures & general notes
Astragal details {Ultimate Flip Lever)

Astragal details (Ultimate Multi-point)

Astragal details (Ultimate Huricane)

Door panel details {lip lite insert glazing}

Horizontal cross sections

Vertical cross sections

OiNION || |[WIN

Frame anchoring

Sl 7
c‘ca'#..o’ig § §g gN
E;;r.-"‘ 124 Ex 2 L3
PPy [ o] 5 .o Z-
ol 101 0y dw B
5:5%3(03 s Zég zZl
G jud ;
- 73.94" MAX. FRAME WIDTH 204 g 53 g g2 2.
K : 3 .g .9
"?e}?ﬁ'-. e 5 558 58
U e 2 >0 HE
zlzl*‘%ib %803 Q=
NS & ©°%; &y
° Q 52 h-m
2 Zmy Ok
o Q" ¢ ]
' l & § o] 2 2 B
/ / & maon gg
/ y ) @ [
4 Va4 : X
— / l / g e< 8
o 2 :
s [a)
£ =z
- 9
£ © | 55
T 5 A=z
D) Lt
o 2 og
T W .02
[TN] x P ]
L1 o=
2 = 2 g EW
: i X X BEE
. H- (=) & s| 4
< < l i I N
O O A2 [72] __JLLl
> % ® & MR
= g 9 e} %@
¥ i S Bl X
o © < a.
NI / / - -
o / y n]n
Vi ya blsl88k
| / / | ST
NERS
3ol &
(6] 8 5 -
& g z|=
b o |&|” )
D0l |Z
033195 3
gl [2
o S % < E 0
R
= L(;)J [aY 4=
<Ll Ly
NEEEE
DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF) Slel@lolv
ULTIMATE HURRICANE | ULTIMATE MULTIPOINT | ULTIMATE FLIP LEVER SN
CONFIG. | GLAZING MODEL ASTRAGAL ASTRAGAL ASTRAGAL QSQQQE
<|=|=lwl=
POSITIVE |NEGATIVE | POSITIVE |NEGATIVE | POSITIVE | NEGATIVE IO Y =
pd
XX | LIPLITEINSERT | INSWING +40.0 -45.0 +35.0 -35.0 +40.0 -40.0 pATE: 8,/09,/12
scaE:  N.T.S.
XX | LIPLITEINSERT | OUTSWING +45.0 -45.0 +35.0 -35.0 +40.0 -40.0 owe. B:  JK
CHK. BY: LFS
DRAWING NO.:
TX—4213

sheer | oF 8

© 2012 R.W. BUILDING DONSULTANTS IND,



TAON] BANVLIINSNOTD SNIOTUNG "M'd 2102 O

ST ¥ NoaLm 0 Aol (3037 dnd AT g — ST ToN
SWLIa WovHlSY S41 TUS ONILYINOILLYY a3davi+1//0/1 | | & vlx|2] © 8_
L616°659°CL8 'ON euoud INIE NeERlE &l s
S6SEE "4 OOMIDA 0$Z Xog ‘O'd \S\&v SSV M0 1¥vd 1'Ss47] 38n1dv0 NId TVOVHLSY MIN aavisL/so/s| ¢ | oo ¥ °
*ONI *SINVLINSNOD ONIgHNG Sd1 SAI0HS3YHL q3aavigi/eo/Li] € m Z g | 2_
IW TAINO Q3Zv19 1¥3SNI 0oL a3siAgdliel/s/1i] ¢ |© e 2
SZLYOL# I'd SwxaL VUNAN3 41| 3G00 O¥i/08I 810z OL 3U¥Gdn|iz/0t/uil 6 |3 g |y |2 &
‘Fd IPIIUDS ‘4 uopuky Ag peJspndedd sjuewnoog 119Na0Nd 219 W 5 w =
WOLLOfg -
i
* ™~
1 1" [
i ol
— 8 % D._ !
. 2 S
tH »
L g
i R 80 5
0 " |38
(] =
3 | b 5
1 «© uD | :mN._. {
Rz N
B N | mﬂ c
5 : v g
3 2 & » e
2 T 3 5
[} O
= o +=
[on]
S - <
i~
w
= pd
R Q 2 §9'C ———
g 3 2
o <
Q o
= Q
o LLI
9] <
(%)
o =
: o] 2
5 <
O T
Z
<

g
f—1.75"
7.5"

-

.t
-~
e
e R

B
L
Upper/Lower Bolt Actuator Lever - Zinc
{2}#8 X 1-1/2" PFH WOOD SCREWS

dOl

(2)#8 X 1-1/2" PFH WOOD SCREWS
N (2)#6-32 X 5/8" MACHINE SCREWS

PFH WOOD SCREWS

(2)#8 X 1-1/2"

(2)#6-32 X 5/8" MACHINE SCREWS

Lower Bolf Sleeve - Aluminum

>
o
Q
&
S
5
£
E
=2
<

ULTIMATE FLIP LEVER ASTRAGAL

X e e

Upper Bolt Sleeve - Aluminum

N

BMpEL-Z1ZP-XL\020Z AT¥\sBumel - D\Z19 ysni4 sseibiaqid oidiseld 119-YQ - IAL\sul 40 1deq sexal - \LNINVINYId enpua\siusld\Z



CON] SANVLTINSNOD aNIang "M'a 2102 ©

SNOISIAZY
268LL—d # NOUVHLISIOFN 40 ILIVOIIUNMID QZB&!P:SE m.~<2:..5v 8 JIVa FON ~
08 SVX3L : ) @
SHIINION3 VNOISSIAONd 40 qQuvos STVLIA VOVHISY ] T1IS ONIYINJLLEY d30aV|vi/20/1 | 1 1| 9 S| 2 F_
e g o ATAWSSSY ¥0 IMvd ['S7/38NIdV0 Nid TvOWHLSV MEN_davi 61/50/S | Z | ) 59°
Nl it es o ou\Sv@. S STIOHSIMHL G30QVI9L/20/L1[ € ISI=| | 12 1 ||
ONI 'SINVAINSNOD. ONiaine 1IN |ATNO _G3zv19 IN3SNI OL G3SiA3d]| 81/2/1L| # |® m Blale X -
VANANA S41| 3000 OI/2dl 810Z 0l 31vadn|iz/oL/it] S |p|Y s |« 2 4
d SvX3lL =] x
2 aihiod % UOPUAT  :Ag pespdeid sjuswnoog :10NA0¥d ARAERE L =
WOLLOg -
« ~
[
e £
| g I
" N TH
& & —Jind
S =
il
ol -~
. 9L
in O
: al -
R e
S i A
3 5 ] L] _
u.nv. ) T :w ' -
[29] = -
N e [ S
2 O
o ! 3
3 5
Q & * N o)
o . o)
~0 o~ = =
— O
z <
5
~O L
N~
2
. - .
R 2 2 59T
[s¢) < =
_ 8 S
3 2
2 5
o’
2 2
Q o o
e
<
[%¢]
R ¢ &
T Q & O
= o
W i £ O &
i | o Q £
5] 2 9 5
P * [0} Q <
[ — (%} W M
© e W =
g € o F %
= S & = 3
T 2 & >
Q = o™
oI 582 3
>
dOl T 2T o M
Q T W#I L2
2 E
ot | E
= 5 =
& @ g T
24 ) P
:. 9 & o
N e
.Pw W o _
> == v
o = r = A
* ¢ = 3
o B s O
- e A
i w 0O
s O m
X 8 2 E O
E: & 2 <
7 0o ‘€ £ f—
...... lm) g S s Z
‘ T » £ o O
D)\ N 5 o ¥
}, / Y l'.o..l‘”l.ar T M m % .I.—l.
— < % s H
g 2 55
2 Q [
= 9 0 M
£ - % ,
2 5 g 3 Ll
< S 0D —~ b=
© 2 = <
g3 : =
2 i E =
2 kS| < >
@ '
Q. '
m- S i!!{

BMpEL-Z1L2p-X1\0202 ATu\sBuImelq - D\Z19 ysnid ssejbiaqiy oidiseid L19-4d - 1AL\l 40 1daq sexa) - §\ININVINYId BINPUI\SIUSID\Z



‘ON| SINVLINSNOD GNIGHUNE "M'Y 2102 §

ST # Moumusens o awous (Nvonn v g SHOISIAZS V0 ToR
L616°880°CLE 10N SUSYY STvidd WoveLsY S41 TS _ONLVINOLLYY d3dav| #1/L0/1 | | m vl © om_
9698 4 OSHIDA OCZ Xo8 -O'd \Sv ‘KIBNISSY ¥0 [¥vd ['SJ7[39nidv0 Nid_1vovallsy MAN _dav| s1/50/5 | z ||| |7, | 8
“ONI ‘SINVLINSNOD SNIGING @. S47 SGIOHS3HL a3aaviei/zo/11] £ || < g | 4_
TN [XINO 032v15 1¥3SNI OL G3siAdd] 81/7/t1 | v |©] | & | &]e X
CZLPOLF "T'd SvXaL V4Nani S41| 30020 Odi/o8l 810z oL 3ivadn|iz/ot/ii] G | @ m 6lylE &
‘A'd IPIUIYDS 4 uopuk] :Ag peupdeuyd sjuswunoog 110NA0YNd 218 W w m w
(%)
v
(274
> Y
©
= &
-
<5 O
o 23 =
- O <
=
Q
far]
O
WOLLOg a
)
I Q
m. o3
x
| S
— 3
(%]
g g
= F
. e o
& >
> [oe]
W wy o) I3+
il v I
zz
22
u " - M
2 0 | E A
) v T < < [~a)
= = =
5 Q % / g
i A ~O e
O ! : <
2 I 8 T /= S I
) bl = Z|Z w o )
& | w 1l o |7
A w < i Qfw up 4 oz
o ! = | Z B = 5
o 2 = L == J =
z | < a|O a \Jz
$) < o2 i 5 =
z - i _ w = o 7] =}
< :mo - W
£ 3 3
Zz o <
1 m m
ﬁ g &
WIL L
0
2 =
y &
T
Q
in &
N —
T 3
/ } ) Z
o
I F 1%
&g 3 <
— (28] o
dOl o 9T
—_ o Q —t
#= QO A
i O
W
S & <
03 07
oS oe
H > = )
ok g <
@ - 0 LLj
%=z 3 =z
o, L o
& e o <C
” & @)
m ~
T s W 0
el e} E o o 874
oz & i -
& & %2 T
w Q) i
L [6) o] Lid
> w & & |
Ll
£0 W Z AMn
= 5% =
ot
o |
-
s \ o Gl

BMp'EL-ZL2b-X1\0202 ATd\sBUImMeIQ - D\Z1D ysnid ssejbiaqiy osdised LL9-YQ - 1aL\su) 4o 1deq sexa] - G\LNINVINYId  INpuSIualdNZ



‘IN| SANVLINENOD ONIGTUNE "M 2102 §

ZSBLL—4 # NOLUWVMNISIORM 4O ALVOLILLNIO SNOISIAZS
SYIINIONI IVNOISSI408d 40 Q¥VOE SVX3L G@.N:wmwaﬁww&r mmmoma Al 31Vd [ON| ey 8_
S TIIS_ONUVINOIEY G34av| %1/20/1 | L |<|4|X|L]
LBL6°6S9°CLE TON euoyd : NP E Sl s
S6SEEC 714 OSMIPA OFT Xog ‘O'd \Sugg "ATEN3SSY ¥0 1¥vd | S47|39NIdY0 Nid TVOWMISY M3N dav|6i/s0/5| Z | o) Qe
*ONI ‘SINVLITNSNOO ONIgHNg S41 SAIOHS3YHL g3aavlei/zo/il] € m =z . g | 5_
LA TATNO_03Zv19 L¥3SNI 0L 03SIAFd| 81/z/1t1 | v |©| |&|&le &
£ZLYOLF “I'd Svxal VANAN3 S41] 3000 d¥i/o8l 1oz oL divddnliz/oi/iil ¢l d|g| |2 &
‘F'd IPIUYIS "d uopuAy kg pedndesd sjuswnoog 110NAodd SIG1813 m 5
o)
. S . z|
:N _. m :N _. O
= 3
e
! o
- b < . 9 e e r S
TR I S v < q.. gl 0T ﬂ”_ ]
e 3 RS : - O
- S o ; = e v 4 K3 2N ) . ‘e .".s C
: . M4 o = S NPT LRt ~—
s A : B a\...od v vil k a_ m
[T
NRU — — >
& = <
& < =
= & T =T N0
= Ol — Os
og Z ¥ 59
=5 » = 20
< @. K2 = -
O a. =
_ el 3=
[ ..WN._. e AVL m ﬂh
= g
% g =
| E .
b4
— =
B 5 2 3 9
* < 5 35
- 5 O (V]
N ) ") - 0 0
s | il = z %, B
(AR Q. [+ 9
i = 3 ¢ =
2 bl z Hy H
o = = X ml .18 [2 4 rma 2
2 .. = =< = B
: SRV E
o 1 @ 3
o 7 E &
4 & @2 2
< O =~i|'S
L s 5 Fo
‘g - < H 1=
v T« Q [
< v o m ..m
o5
5 . ®
O (L)
..ru W o o W
4 > 9 o &
7] 5 = 20
S S a
. ml.w o 7 77 z
A\ ~ > O
/. [2°4 ) =
m 77 @] M HH
& & <
= £ Q
z Qi N
= ac
/@ 0
b
mw
‘ 4 .'mh mw
v A
b T v.
Qg Vv« . ..AJ ie}
L o 2et
. s = <5 3
- P > o 9 =
i ve 0 =L £
o ? v e
v g e 5
el 1Lt T b
- .c \G > =
-] G Z W o =
_ < T == %9 IHOEH 0'Ta
! R =3 XYW 6.
- B8 = O
» T iy 9 e
» = e IHOBEH HNVd
% < JO0a XYW .8T'66
S (@]

BmpeL-21L2p-X1\0Z02Z AFu\sBumelq - D\Z19 ysni4 sse|B1aqi4 osdiseld 119-HQ - 11\SUl J0 1dag sexal -~ S\LNINVINYI eInpua\sIusiDNZ -



— — o ETRAMING SN, e
ﬁ < (6>=042 SHrlie 1, 4 £3 2
4 o 6 5*?:‘..0‘ ?S ¢ .--,..,))4’ £ o g E, ,IN)
# "’Q,,“ H H ", £%® 0 ME
| i o~ iSie & Gy OM g"‘
EXT. SHEATHING | . /— DRYWALL H b :?%é% il wf E gy v
’ - H % A ¥ b -
N - =1 | Bt 7 iz 1S §3 g3 £
’ ;x- ’ ; &, i9i ¥ §F E£8 89
fi | #10x25 PR /// /// B i Z furd -0 {E
-1 WoOD SCReW v ’ Qi e s s §8° o2
]/4" MAX. ShRL¢ / o I“l\\.‘t’\.\‘\'\:\. o :; (: é o E
SHIMSPACE . llif o 3 Za3, Sy
hzg g g ss g pu
o 8 E “ I S mod g g
| P S
3 k
DOOR PANEL 1 E é o
HEAD I X X
ENDURA WEATHERSTRIP | |
QEBD/PE 650
g DI AN ot | :
EXTERIOR INTERIOR e/ |IT [ DEADBOLT: KWIKSET SIGNATURE SERIES < 2
O~ (980/985) S
m / T = o So
(~3"\ VERTICAL CROSS SECTION & /|~ / y // T LATCH: KWIKSET SIGNATURE SERIES & |3 &4
{_6_/ Outswing shown - inswing / , (991) g T
alsc approved | / / | . < ©
5 &
s
1/4" MAX, . CORNER PADS (TYP.) o &
SHIM SPACE o C(:)"S]!SK — wl]ololp
EXT. SHEATHING (P e e
wla| |8
HERE
——— Ola %
e s S e — N
2X FRAMING e |/~ #10X2.5"PFH WOOD SCREW 3 3 |z|2
(G>=0.42) \ ULTIMATE FLIP LEVER ASTRAGAL Sal 1§92 |,
L8] PR L7, Y I QZD =z
ULTIMATE MULTIPOINT ASTRAGAL =8335 @
S 7
T IAMB  DURA WEATHERSTRIP ULTIMATE HURRICANE ASTRAGAL § “lBleg 2
(QEBD 650) NAEELR
EXTERIOR WEATHERSTRIP DOOR PANEL LBal2a
| £lz|S|3l8
i< % <
/ s
DRYWALL / \_ INTERIOR B o|<|mla] -2
48 X 2.5 PFH WOOD SCREW #8 X 1" PFH SMS #8X 3" PFH WS baTe: 8/09/12

#8 X 3/4" PFH SMS 4"HINGE #8X 1"PFH WS E:ZLEBY N.Tj(.
- CHK. BY: LFS

/ 1"\ HORIZONTAL CROSS SECTION @”OR'ZONTAL CROSS SECTION RAIG T

W Inswing shown - Outswing also approved U TX—4213

SHEeT 6 oF 8

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4212-13.dwg

© 2012 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4212-13.dwg

\\ A\ T
INTERIOR EXTERIOR INTERIOR EXTERIOR ENDURA Sxint 8
AT - N
DOOR PANEL DOOR PANEL WEATHERSTRIP - // DOOR PANEL EAGRE S
ENDURA (QEBD/PE 650),  'NTERIOR EXTERIOR ” TS
DOOR SWEEP ENDURA \ ENDURA NTERIOR N e
(DBK-R) DOOR SWEEP WEATHERSTRIP_  INTERIOR EXTERIOR A Sl
(DBK-ZAC) (QEBD/PE 650) A
?2 ‘(&'o‘ "'
h ?? ~( LR
U\ EZQ K Roos
Mo

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR {TW CONCRETE SCREW

/1" VERTICAL CROSS SECTION

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR {TW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOQOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/3" VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

7”4\ VERTICAL CROSS SECTION

\7/ inswing Adjustable Threshold

\U Inswing Articulating Threshold

Outswing Bump Threshold
w/ Pin Capture \7/

\7—/ Qutswing Bump Threshold

! 4.56"

@ INSWING ADJUSTABLE THRESHOLD

LAIL4565

! 4.56" i

l l"‘__—_——_- 4-56" ’ ! 4.56" f] 4.,56" ! ! 4.56" !
2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
1AI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS

MAX. DESIGN PRESSURE = 40 PSF

e
|

iR

45 w———J

4.56" !

P.E.

tyndon F. Schmidt,
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F--11852

(73]
<
o
G
Lug
(75}
<
n
T 74
o [e]
= o
i O
=
Q
. =
g &
2 =
Q
x®
o
0
>—
gg‘bm

4.56"
6 INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
IACL4565 ZAC4585FN IACLAA4565 IACAA4565FN IACA4565RDS
MAX. DESIGN PRESSURE = +35 PSF

+ = 4 ! =N

i + i i

! 456" ! ! 4.58" : L 4.56" ! ! 4.56" 1
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD
IOBL4565 IOB4565FN ZOB4565RDS FOB4566

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:
1/07/14 |ADDED ARTICULATING SILL

11/7/18 |REVISED TO INSERT GLAZED ONLY | MT

11/10/21|UPDATE TO 2018 IBC/IRC CODE
11/02/16]ADDED THRESHOLDS

NO. DATE

5

+[m]ovf =

REVISIONS

pATE: 8,/09/12

scalE:  N.T.S.

DWG. BY: JK

cHK. BY: | LFS

DRAWING NO.:
TX—4213

SHEET 7 oF 8

© zo12 R.W. BUILDING GONSULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4212-13.dwg

s . g 2X framing (by others) :.'g
Q0 < Y £y )
L0 . : ¢ o B
390 ) . &" Astragal Strike Plate E3 3 £* 3 4w
< mfp.) . (TYp) @ Head Jamb g 4y ¢B o7
; = (P ‘ 9 Zg E lfg g.az
- 7 T L. L. ..'. E B < -g o [o] %
T B EHJ‘/ SEERPISE I 1 & T _{l = [«?\3‘\ = A 5 Lgé %E
N % 7 ]
H Z
- } #10X 2.5 PFH DETALL 1 I % AN Moot 5 88% gg
ot WOOD SCREW . o © . ¢ T
S P ©E #10X 2.5" PFH WS 3 §§; 5u
a =50 2
| | AND JAMBS) | ] DETAIL 1 £ Ret %%
O~
3 L \ sex2zemws B & gg
7 g
= o |
'a_! e _‘g " '/. - ®
2 #8X1 PFsté:. 1S #8 x 3/4" PEH Ws
- SEE HINGE ! — 4 X 4" HINGE .
DETAIL 2 N =
S
<
| R— HINGE DETAIL 1 & |43
S |32
% ColEy
‘ = 8
E?Ei?/ * DETAIL 2, 3 OR 4 & |~ #BX2VZ'PRHWS 3 <A E
. — \ — e LI o | g x
' .:. O] —® -~ A | 8 b
i B T N | (1. ‘_ #8X 1" PFH WS é;' 11, SFSt= #8 X 3/4" PEH Ws g %
4" (TYP) l #10X 2.5" PFH WOOD SCREW “'\\‘ 4" X 4"HINGE ol<|ele]ol-
& (P L 1/4" X 2-3/4' DeWALT OR \ ] ] )l e
T T ey [TW CONCRETE SCREW wlz| &
Q <€
] (&)
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A')‘(‘fHOR’NG g |22
CONCRETE (MIN. 3000 PS) S1e| [T o
WOOD (G >= 0.42) “E|8RIZ| 1B
2lElolls] [@
* . . S
NOTE: This anchor required for D.P. > 40 PSF. N/ é % 3 gl
RiEE [*
i P
CONCRETE ANCHOR NOTES: . ; SSlE ol
1. Concrewfe anchor locations at the corners may be adjusted to maintain the min. S/16°X 2:3/4 ”WOCRONCRETE SCREW ASTRAGAL PIN CAPTURE 5 na: <
edge distance to mortar joints. . ) , #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) NN
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to INT N =
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE . SRR
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL 1/2" DIA. HOLE (IN CAP) ol b e ]
3. Concrete anchor table: \ o el
ANCHOR |ANCHOR | MIN. | MIN CLEARANCE | M CLEARANCE =0E— [ 7 = A e 5/09/12
TVPE | SmE | EMBEDMENT | TOMASONRY | 1O ADIACENT = 2 s oAt N.TS,
SR o T | EDGE. | ANCHOR owe. B JK
w1 3/1¢" 1-3/4" 3 1-1/2° CHK. av. LFS
TAPCON® | 1/4" 1.3/8" 1172 4 1/2'DIA.HOLE peraj 9 DETAIL 2 DETAIL 3 DRAWNG 0.
DeWALT | . . 1.3/4" " . Outswing Inswing Tlnswing TX—4213
ULTRACONE| 1/ -3/ 1 4
SHEET 8 oF 8

© 2012 R.W. BUILDING DONSULTANTS INC.



